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Outcome 1 - Interpreting Stem-and-Leaf Diagrams

The stem-and-leaf diagram below shows a
group's results in a spelling test...
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(a) What was the highest score?

(b) What was the lowest score?

(¢) What was the mean score?

(d) What was the median score?

(e) What was the modal score?

Homework 3 Silver Level

The stem-and-leaf diagram below shows a
group of people's ages at a rock concert.
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(@) What was the highest age?

(b) What was the lowest age?

(¢) What was the mean age?

(d) What was the median age?

(e) What was the modal age?

R I G @U R © cdmasterworks 2015



